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FENELLERE « “Fiis EWVIE) - FHEAT (O EWIE) ERI - %0 54 4829H (1)
JEfE ZINE4 & i GROSS HDCP NET e
B EE 6 42 42 8.4 33.6
EERS | BEIR I3 45 45 10.8 34, 2
3 {4 Al FEE 55 55 20. 4 34.6
AfLIEN B 37 37 2.4 34.6
5 fL|&H =M 48 48 13.2 34.8
6 | b FE 48 48 13,2 34.8
AL g 1#hE 48 48 13.2 34.8
8 L | Ml ke 41 41 6.0 35.0
9 {i | fEHE iBL 41 41 6.0 35.0
10 4L bkt FZ= 41 41 6.0 35.0
(1 i} | 5] 47 47 12.0 35. 0
12 17 {2 A = 40 40 4.8 35. 2
13 i | A BE 40 40 4.8 35. 2
14 {7 | /Y %k 46 46 10. 8 35.2
15 {7 | BEH % 40 40 4.8 35. 2
16 i | P H #EE 46 46 10.8 35. 2
17 i | AR A5 51 51 15.6 35. 4
18 {7 | B EFE 39 39 3.6 35. 4
19 {7 | Kk ®RE 44 44 8.4 35.6
20 {ir | BEH HR 49 49 13.2 35. 8
21 iz | s RF 49 49 13.2 35. 8
(22 (| E5F 3k 43 43 7.2 35.8
23 fir | Mk Fl 5B 42 42 6.0 36. 0
24 {r | (LR RS 48 48 12.0 36.0
©5 i | FAsA Fal 42 42 6.0 36. 0
26 fif | HEAS Bl 42 42 6.0 36. 0
27 if | #Risr IEA 48 48 12.0 36. 0
28 fif | KA 1K 42 42 6.0 36. 0
G2 |\ % Br=FK 41 41 4.8 | 36.2
30 firl @t ——= 41 41 4.8 36. 2
31 i iR IEX 41 41 4.8 36.2
32 fi | Bk =R 41 41 4.8 36. 2
B3 (| ieBs =8 a7 47 10. 8 36. 2
34 {7 R HEWR 41 41 4.8 36.2
35 fir | T EF 41 41 4.8 36.2
36 {if | KH JTET 46 46 9.6 36. 4
37 i | = | F|EE 52 52 15. 6 36. 4
38 i | Al EE 45 45 8.4 36. 6
39 {7 | IR ET 45 45 8.4 36. 6
Q40 {7 | pEE T 45 45 8.4 36.6
41 P | JEYN BBiE 51 51 14. 4 36. 6
42 L |HO F5 44 44 7.2 36.8
137 | B ER 38 38 1.2 36. 8
(44 D) KAR % 49 49 12.0 37.0
a5 1z | 5 B 43 43 6.0 37.0
46 {ir | /v FEKE 42 42 4.8 37.2
47 {7 | K BT 42 42 4.8 37.2
48 i | BEZEE EF0 42 42 4.8 .o
49 {if | FEFT gk 60 60 22.8 37.2
50 fir| KB =i 41 41 3.6 37.4
51 fif | R Tk 47 47 9.6 37.4
52 (i | KM 1= 35 35| 2.4 37.4 BGD
53 {if | i BASE 47 47 9.6 37.4
54 fir | P& "B 41 41 3.6 37.4
(55 (L &7 HEks 4] 41 3.6 37. 4
56 {i | %k BB 46 46 8.4 37.6
57 i | FIiA (S 46 46 8.4 37.6
58 fiz | F L ErE 40 40 2.4 37.6
59 {7 | HAT Fnz 46 46 8.4 37.6
60 {7 | N FEAE 40 40 2.4 37.6
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L &4 Elﬂ i3 GROSS HDCP NET 5=
6l fir | T3 & 39 39 1.2 37.8
62 fif | #hEE AT 45 45 7.2 37.8
63 fif | RS Y 51 51 13.2 37.8
64 if | = (&7 43 43 4.8 38.2
65 | GG B 61 61 22.8 38.2
66 i) iAK B 42 42 3.6 38. 4
67 L | St FEkE 48 48 9.6 38. 4
68 {if |3 HWp&E 42 42 3.6 38. 4
69 i | A B 36 36 2.4 38. 4
(70 fiD| X 5F 48 48 9.6 38. 4
71 | T8 51 42 42 3.6 38. 4
72 LBl BT 47 47 8.4 38. 6
73 L | ARZ 47 47 8.4 38.6
74 i |/ —HE 53 53 14. 4 38.6
715 firl i 52 47 47 8.4 38.6
76_{7 | W)l #E 46 16 7.8 38.8
7 {0} W8 A 46 46 7.9 38.8
78 iz | R MiE 46 416 7.9 38.8
79 AL LEA 35T 45 45 6.0 39.0
80 {7 | /A MEE 39 39 0.0 39.0
81 {ir | KPH B 51 51 12.0 39.0
82 {if | FAEH 5AHL 63 63 24.0 39.0
83 iz ¥kl Bia 50 50 10. 8 39.2
84 if | BN =8 56 56 16.8 39. 2
85 fin| Béh IEK 44 44 4.8 39. 2
86 1 | AT %l 49 49 9.6 39. 4
8T | S4B IEA 49 49 9.6 39. 4
88 fi)| Akt & 47 47 7.2 39. 8
89 {ir | A FHigt 47 47 7.5 39.8
90 7| IRE B 52 52 12.0 40. 0
91 fir |y S 46 46 6.0 40. 0
92 (L | FEF] 40 40 0.0 40. 0
93 {iL | x| — = 45 45 4.8 40. 2
94 fir | FEE & 51 51 10.8 40.2
€95 {iL| ARk FigE 57 57 16.8 40. 2
96 {ir |I#T T 49 49 8.4 40. 6
97 {ir | AT & 49 49 8.4 40.6
98 (i | At —1E 49 49 8. 4 40. 6
9 %0 f— 48 48 7.2 40. 8
100 i | #fldF B2 — 52 52 10. 8 41.2
101 {if | Ak NHE 46 46 4.8 41.2
102 {7 | Nk 1& 53 53 10.8 42.2
103 i | Bkl 3K 49 49 6.0 43.0
104 fi7 | il B 55 55 12.0 43.0
105 {if | M52k & 56 56 12.0 44. 0

B K SCE 56 56 12. 0 44.0
_ M SR £ 69 69 18.0 51.0




